ALGEBRA I EXAM 1.2 Part I

[image: image1.png]1. Katie is simplifying this expression: 3x(x*—5xy + 6x—12)

Which choice represents Katie's correct answer?
(A1.A.SSE.A.2)

A 21 -15xy—36 C. 33— 15xy + 187~ 36x

B. x*— 5y + 6x*~12x D. 33— 15 +18x*~36x

2. Tyler correctly rewrites the expression shown in the box.

3(x +y) + 4z -3w —(x +y)

Which could be Tyler's expression? (A1.A.SSE.A.2)

A 2(x+y)+4z-3w C alx+y+2)-3w
B. ax+y+4z-3w D. 4lx+y+2)-3w



[image: image2.png]3. The dimensions of a figure are shown in the diagram.

(ALA.APR.A.2)
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What is the perimeter of this figure?
A 12x+2y C. 12x+ 4y

B. 12x-4y D. a2x



[image: image3.png]4 Which expressionis equivalent to (ax +3)(3x* — 2x + 5)?
(AL A.APR.A.2)

A 53 +6x+8x+8 C 63 +5C +4x+15
B. 6 +23* + 16x + 35 D. 6x3 -5+ 4x +8

5. Which pair of expressions are equivalent? (A1.A.APR.A.1)

A. 3(2x-3y); 6x-3y C. x(x+2y);ax +2xy
B. 12x— (x +y); 11x +y D. 4x—(2x—2y); 2x + 2y



[image: image4.png]6. Overthe past 10 years, Randy has assembled a stamp collection. His
two favorite stamps are shown. The expression 3x* + 25x represents the
area of the first stamp. The area of the secondstamp is represented by
8x* + 10x +2. (A1.A.APR.A.1)

Which expression represents the combined area of the two stamps?
A 12x+27 CoaaxZ+3gx+2

B. 36x+2 D. aaxh+35x3 +2



[image: image5.png]7. Melony won tickets to attend a local theme park. On the day of her
arrival, the parkis offering a promotion for free refills, with the
purchase of one of their sports-bottles. The volume of the smaller

bottle is expressed 10x2 + 5x + 5 ounces. The larger bottle holds 12x2 +
3% +10 ounces.

Which expression can be used to describe the difference in their
volumes? (A1.A.APR.A.1)

A 2 +ax+s C -2 +ax-5

B. 2x—2x+5 D. -5 +8x+a



[image: image6.png]8. The Smithssiblings were employed at 4 different jobs during their 8-
week summer vacation. The table shows the weekly income made by
the Smith siblings, where xis the number of hours worked. Sade was
out of work 1 week, and Blake missed 2 weeks of work over the 8-week

period. (A1.A.APR.A.2)
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Sade

Taryn
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Which expression represents the totalincome earned by all the siblings

together over the 8-week period?

A. (20x + 48) dollars

B. (35% +63) dollars

C. (210x +354) dollars

D. (232x + 384) dollars



[image: image7.png]9- The length and width of a rectangle can be given by the expressions
(3x+ 5) and (2x—1). Which statements are true? (AL A.APR.A.2)

Select ALL that apply.
A. The perimeter of the rectangleis 5x +4.
B. The perimeter of the rectangleis 10x +8.
C. The perimeter of the rectangleis 10x +g.
D. The area of the rectangle is 5 + gx + 4.

E. The area of the rectangle is 6x* + 7x— 5.



[image: image8.png]10. Jason wants to build a rectangularflower pot with length x and
width x + 1, in feet. He records the expression 2(x + 1) to represent a
measurement for his flower pot.

Assuming Jason writes the expression correctly, what measurement
could the expression represent? (A1.A.APR.A.1)

A. the area of the flower pot
B. the perimeter of the flower pot

C. the portion of the area of the flower pot representing the width of
the flower pot

D. the portion of the perimeter of the flower pot representing the
width of the flower pot



[image: image9.png]11. Admission to the state fairis $7, and eachride costs s2.

Emilie spent s13 on rides and admission, Louis spent s17 on rides and
admission, and Monique spent 25 on rides and admission.
(Av.A.CED.A.3)

Given this information, which statement is true?

A. Emile wenton z2rides

B. Monique went on grides

C. Louis wenton 3 morerides than Emile

D. Monique went on 2 more ridesthan Louis

12. Whatis (are) the solution(s) to the equation (x—2)*= 4, and
why? (A2.A.REL.A.2)

A. Thereisno solutionto the equation
B. The only solution to the equation is x= o because (0 —2)* =4

C. The only solution to the equati: 4because (4—2)* =4
D. The solutions to the equationare x = 0 and x = 4 because both (o

—2)=4and(4-2)=4



[image: image10.png]13. Airlines limit the size of carry-on luggage, so that the sum of the
length, width, and height of a piece of luggage cannot exceed 55
inches. Apassenger has a box with a base which measures 15 inches by
20inches. (A1.A.RELB.2)

Which inequality represents the possible height (h ) of the box, so that
the airline will allow it to be carried on the plane?

A. h<zoinches
B. a5 inches <h < 20 inches
C. h<3ginches

D. a5 inches <h < 20 inches



[image: image11.png]14- Fourstudentssolve the equation 5 (x +8) —2 = 12. Thetable

shows the students’ work.

Cora Fiynn Olvia Nestor
i(“s)f;,w i(x+ﬂ)77—17
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Which students made mistakes, and what mistakes did they make?
(A1.A.RELA.2)

A. Coraand Nestor; Cora should have subtracted 8 on the right side
ofthe equation instead of adding 8. Nestorshould have added 2
to the right side of the equation instead of subtracting.

B. Cora and Flynn; Corashould have subtracted 8 on the right side of
the equation instead of adding 8. Flynnmade a mistake in
combining like terms.

C. Flynn and Olivia; Flynn made a mistake in com|
Olivia should have distributed¥s to the values i
parentheses.

D. Olivia and Nestor; Olivia should have distributed Yatothe

valuesinside the parentheses. Nestor should have added 2 to the
right side of the equation instead of subtracting.

ing like terms.
de the




[image: image12.png]15. Consider the rectangle shown. (A1.A.REL.B.2)
3x+5

2x-1

If the perimeter of the rectangle is 52, what is the value of x?

A 42 C oz
B. 44 D. 9.6



[image: image13.png]16. Consider the system of linear equations shown.
x+y=z-a
2% +4y =20

Which point and graph best represent the solution to the system of
linear equations? (A2.A.REI.C.4)
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[image: image14.png]| 7. Which is (are) among the solution(s) for the following
inequalities? y >2x+10 andy s -x+ 6 (A1.A.RELD.7)

I (3,58

1. (o, 0)

. (5,2)
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18.
The debate club needs $240 to attend a debate tournament.  The club decides to sell t-shirts and polo shirts at baseball games.  T-shirts will be sold for $5 and polo shirts will be sold for $8.  




(a)  
Write an equation to find how many of each shirt must be sold to raise $240.  


(b)
Graph the equation.






(3 points)

[image: image15.png]19.A clothing manufacturer has 1000 yards of cotton to make shirts and pajamas. A shirt
requires 1 yard of fabric, and a pair of pajamas requires 2 yards of fabric. It takes 2 hours
to make a shirt and 3 hours to make the pajamas, and there are 1500 hours available to
‘make clothing. Use a graph to show all possible combinations of shirts and pajamas that
can be made. (4points)




[image: image16.png]20 Andy's cab service charges a $3 fee plus $0.25 per mile. Andy's brother Randy starts
aival business where he charges $0.75 per mile but does not charge a fee. Graph both
cost equations. Does it make sense to use Randy's cab service? (5 points)




Graph the linear inequalities in questions 21-22.

21.
[image: image17.png]











(2 points)
22.
4x + 6y ≥ 48








(2 points)
[image: image18.png]23 What pair of numbers satisfy the statement: the difference of two numbers is less than
107 Graph the solution set (3 points)





[image: image19.png]24, Alocalcitizen wants to fence a rectangular community garden. The width, x, of the garden should
‘be less than the length, and the distance around should be no more than 380 ft.

a. Write a system of inequaities that models the possible dimensions of the garden.
b, Graph the system to show all possible solutions. (6 points)






[image: image20.png]25. Jack and Jill an up a hil.
Jack anat S s,
Jill anat 3 s
Jill has a 12-meter head start.
(@) Create an equation for each person.
() Graph each person on the same graph. (Be sure to appropriately label each axis)
() When and where are the two tied?
(@ Confirm your answer algebraically. (8 points)




